1+ =2

3+ 1 =






12=12—=x

T+ 0 =18
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= 15
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10=u0+2

v+ =106



60+ 14+ 1 =20

3+ —3 =23



6+1=ux+3

O0+o=ux+4



O+ 1=x+5

3+3=u1+3



104+0 =2+ 10

44+0=2+x



124+1=0+7

1D —4 =24+



12—1=x+14

20— 9 =2+



0 —1— 2 =10

12— =25



40 — r = 24

r—3 =23



24+ 10 =10 — =z

r =10 — =z



12—0r=a0+2
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r—1=x+1

v =ux-+ 21



=17 X0
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v =2x-+0
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(>1+x

r+ 13 < 15



0 —1— 2 <10

12 —a >5



20— 1 > 24

r— 13 < 23



12> 0+

v+ x> 106



10+ >
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v+ >T
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v >0



D> 0

v > 10



1o > o

T >0



20 > o

v > 106






PARI( x )

DISPARI( 7 )



—IPARI( T )

—DISPARI ($)



MULTIPLOAi3 (1)

MULTIPLDdiZL(Qf)



MULTIPLOAi5 (1)

MULTIPLOdi10( 1)



PRIMO( x )

—PRIMO( = )



